Name: Math 7.2, Period

Mr. Rogove Date:

LEARNING OBJECTIVE: We will solve and graph solutions to inequalities in 1
variable. (Alg1M1L7)

CONCEPT DEVELOPMENT:
SOLVING INEQUALITIES V. SOLVING EQUATIONS
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1 Alg1M1L7: Solving Inequalities in One Variable
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GUIDED PRACTICE.

Math 7.2, Period
Date:

Steps for Solving Inequalities in One Variable

3. Graph your inequality on a number line.

1. Use Properties of Inequality to isolate your variable.
2. Reverse the inequality symbol if multiplying or dividing by a NEGATIVE number.

240 + 3d < 600 100 + 4f < 200
- Ao -a40 - |00 -[od
d < 360
% = Sf <100
d 2120 Y 1
f<as
< T i [ T | [ 1 T TR ? [ 1
T 1 | I 1 L} 1 ' 1 T 1 T 1 1 T 1 T 1 1 1 T
159 @ 130 as
— 2 1
12— 5k > 72 2 a1
- [ -l 3 2
-3 -3
~Sk >0 2
W L e "X 233 st
T = -G 3 6 TO
VLQ\S“V\,W\ ° = R P . ..CSN Bt
R\ A6 K« Z-1a 3 U= 2) a
XS 2‘,1—‘\-\P\,t9mﬂmm,.
\<= ——t—t—t—t—t——1 ——t——t—t—t—t—
-1
2 Alg1M1L7: Solving Inequalities in One Variable



Math 7.2, Period

Name:
Mr. Rogove Date:
24 —6y<5y—9 17-5m<8m—9
+q +Q
+Q +0,
33 -by <5y
toy  tly &b -5m < ¥m
3’3.& “/3 *Swm  tSm
W Ab < \3m
32 a3
Yz3 e
w7
1 1 1 1 1 1 | 1 1 I.>I 1 1 1 1 1 | 1 1 l :>I
I T I I 1 é 1 T 1 1 1 T T T T T 9‘\ T T T T T
<\ —
6(z—5) = —5(7 — 2z2) —2(m+1)>3(m+1)
bz-30 2 -33 +\02
cac 438 Am- > 3m+t3
+ Tt A
Lz ¥5 =102
-Gz - = ~dm > dm+S
,§_2~ z - ?)W\ ’BVV\
L‘
S>z - 5m >£.
4 -a -2 -5
m <-|
4 1 1 2 2 1 I. ( 1 1 | 1 < l 1 1 1 1 ? | 1 | 1
T T ‘ [ ] .lé-é T T T T T N7 T T T l—l T T T T
0 8’._“‘ ]

Alg1M1L7: Solving Inequalities in One Variable




Name:

Mr. Rogove

Math 7.2, Period
Date:

2x—74+x<3x+10
t+F t+ 7

Ax+X < 3x +17F
3x < 3x 17
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2x+4>4x —7 — 2x

2(x+4) < 6x—2—4x
Ax+ § <Ax-&
3<-2

No So\téﬂm {75

5(x+4) >8x+ 25— 3x

CLOSURE:

1. Find the solution set to the following and graph:
x2+3(x—1)=x*+5

Josh was absent today and asked Neil why the solution to —5x > 30 is x < —6.
rovide a better answer than “you flip the inequality.”

—5% >30 3

+5y 5% —2—9 >%2(
D ° %X+30 '(O > >4

~20 - 20

4

Alg1M1L7: Solving Inequalities in One Variable




Name: Math 7.2, Period
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INDEPENDENT PRACTICE:
Personal Math Trainer! Homework from Go Math.

ACTIVATING PRIOR KNOWLEDGE:

NOTES:
Maps to lesson 4-2 of Algebra 1 (GO MATH)
Homework: Khan Academy, Multi-step linear inequalities.
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